7 Network Topologies

	1
	What is the main characteristics of a local area network (LAN)

	
	a) High data transfer rate   b) Low error rate      c) Over short distance (within building)

	
	

	2
	Identify some of the functions/advantage  of local area network?

	
	a)   Share resources :As servers (printers and files )   

b)  Share resources : applications and databases

c)  Allow for users on system to communicate (chat, email, text)

	
	

	3
	Identify some of the areas when LAN is useful.

	
	a) In academic institution  within the classroom for teaching

b) In factories for supporting manufacturing process.

c) As administrative supports in all types of offices (database, accounting, personnel )

	
	

	4. 
	What are 3 basic  types of network topologies?

	
	a)  bus   b) ring and c) star
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	5
	Describe the  “bus network” (Ethernet).

	
	It consists of a central cable which forms the backbone or “bus”.
All devices (workstation, servers and printers) are connected to this common bus.

	
	

	6
	How is data transmitted along the bus network?

	
	Each device on the bus network has an address.
All devices will listen to the bus to sense whether there is a transmission of data on the bus.

Device A transmit to device B  during a “free slot”a when no users are transmitting..

Device B listening to the bus, will pick up the data. All other devices will ignore the data.

If  2 devices transmit at the same time, a collision occurs. 

The data packet will have to be re-transmitted again by the 2 devices at a later moment.

This scheme is called  Carrier Sense Multiple Access /Collision Detect (CSMA/CD)

	
	

	6
	What is the advantage of the bus network?

	
	a) Inexpensive (less cable)  b) easy to install c) additional stations can be added easily

	
	

	7
	What is the disadvantage of bus network?

	
	a) Break in bus cable will cause network failure.
b) Heavy traffic will caused too much collision and degrade the network.

c) Errors difficult to trouble shoot.

	
	

	8
	What is the ring topology?

	
	All devices are connected to one another in the shape of a closed loop.
Each device is connected to two other devices on the ring.

	
	

	9
	How is data transmitted in a ring network?   #20

	
	Tokens (blocks of data)  are passed round the ring in one direction.

Each token may be empty or may contain a packet of data..

Each station acts as a repeater and pass the token to the next station.

Station AA may put a packet of data into an empty  token and addressed it to station BB

The token will travel round the ring and station BB will pick up the data.

	
	

	10
	What is the advantages and disadvantages of ring topology?

	
	-higher transmission rate     -span larger distances 

-Breakdown at a node will disable the ring    -Difficult to install  

	
	

	11
	Describe a star network   # 24

	
	All devices or workstations are connected to a central computer or hub.

	
	

	12
	What are the advantages and disadvantages of a star network?

	
	-Failure of one computer will not affect the network.

-Easy to add a new device to central hub

-Network does not degrades like bus with more sets.

-Relatively expensive because more cabling..

-Failure of hub or central computer will cause failure of network

	
	

	13
	What is a bridge?

	
	A bridge connects 2 local area network

	
	

	14
	What is a gateway/router?

	
	WAN are connected by routers or gateway.

A gateway is a computer that act as  a bridge between different networks.

	
	


